Periodic Test (2) 2019-20
Sub. : Maths
(;lass : X

Time : 2.30 Hrs. M.M. : 40

Section-A (1x4=4 marks)

Q.1 What is the HCF of two consecutive even no.
a) b) 2 c)4 d)8
Q.2 Next term of the A.P. /8, 418, 32, -.....1S
a) 542 b) 53 ¢) 33 d) 43
Q.3 If sin@+cos@=+2 cosg then value of tang is-
a) 241  b) 2-1 ¢) V2 d) -2
Q.4 Areaoftwosimilar triangles are in ratio 4 :9. Sides of these triangles -
are in the ratio -
a)2:3 b)4:9 c) 81:16 d) 15 :81
Section-B (2%4=8 marks)
Q.5 The larger of two supplementary angles exceeds the smaller by

Q.6

Q.7

Q.8

18° find them.
Find relation between x and y such that point (x, y) is equidistant

from the points (7, 1) & (3, 5):
If A, B & C are interior angle of a A ABC than show that :

Sin(B+C)= Cos-’-‘-
2 2

Show that any positive odd integer is of the form 6q + 1 or

6q + 3, or 6q +5, where q is some integer.



Section-C (3x4=12 marks)'

Q.9 Prove that the area of equilateral triangle described on one side of
a square is equal to half the area of the equilateral triangle described on

one of its diagonal.

Q.10 Find the area of triangle formed by joining the mid points of the
sides of triangle whose vertices are (0, ~1) (2, 1) and (0, 3).

Q.11 Provethat:
(sinA +cosecA) + (cosA + secA)* = 7+ tan’A +cot?A.

Q.12 Ifthe sum of first m terms of an AP is the same as the sum of first
n terms. Show that the sum of first (m+n) terms is zero.

Section-D (4%4=16 marks)

Q.13 Find the co-ordinates of the points which divide the line segment
joining A (-2, 2) and B (2, 8) into four equal parts. :

Q.14 Ifthe sum of the first n terms of an AP is 4n—n? than find :
a)  Firstterm
b)  Sum of first two terms
) _Second term

d) n"term.



y QZiS Two poles of equal height are standing opposite each other on
either side of the road. Which is 80m wide. From a point between them
on the road. The .angle of elevation of the top of the polés are 60° & 30°
respectively. Find the height of the pole and the distances of the point
from the poles.

Q.16 A train travels 360 km at a uniform speed. If the speed had been
Skm/hr more, it would have taken 1 hour less for the same journey. Find
the speed of the train.
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